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1
If 1115% of a number 1s added with

itself then result becomes 7676. Find
the original number.

1
o % ¥ SET W e
& 7676 | U HE&A F@ H?

(a) 3636 (b) 4646

(c) 5656 (d) 6565

ot 9= =1 39F 111
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2
If ]14—9% of a number is added with itself

7
then result becomes 4872. Find the

original number.

fordt W= 1 39 143% g g W 9T

7
T 4872 21 YA W& 916 H2

(a) 6324 (b) 5625

(c) 4263 (d) 6250
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Price of petrol increased from Rs. 60 per litre to
Rs. 75 per litre. How much should the consump-
tion of petrol be reduced (in %) so as to increase
expenditure by only 10%?

U2l 1 HFd 60 ¥IC Gfd el 9 sl 75 ¥9¢ Ui
e B Sl 21 92l 1 @ad i fohd 8 (% H) &
e Ik S@T g3 @ &had 10% @72

(1) 12 (2) 20 (3) 15 (4) 18
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The price of oil is increased by 20%. However, its

1
consumption decreased by 8§ %. What is the

percentage increase or decrease in the expendi-
ture on it?

E
3
F9 2 Sl Bl 39 W A9 § foha wfaera afig etemn &+

T 2

I T o 20% & Wl € fohq S9! @Id 8— %

(1) Increase by 10%/10% 9fg
(2) Increase by 5% /5% 9t

(3) Decrease by 10%/10% HI
(4) Decrease by 5%/5% I
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The number of seats in a cinema hall is increased
by 25%. The cost of each ticket is also increased
by 10%. The ettect of these changes on the reve-
nue collection will be an increase of

fopdt fammn gfcT &t Il &1 W& | 25% i gig &l TS|
gk fehe & Hoa |+t 10% i gfg X < TWI 3
qRadl o URumHEEEY oA B 9 9| g drell 3™
4 gfg -

(1) 37.5% (2) 45.5% (3)47.5% (4) 49.5%
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If each side of a cube is increased by 10% the
volume of the cube will increase by

IfE 1 H TAF o § 10%h! Bt Tl STk ST

¥ fohad gfaea gfg s
(1) 30% (2) 10% (3) 33.1% (4) 25%
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How much water must be added to 100 ml of 80
per cent solution of boric acid to reduce it to a 50
per cent solution ?

80% dfteh 277 ol 100 fHeft. Ut & oiel | feha=n ol
3R Themrn s T sie o «ifte 31T 50% Bl Su?

(1) 30 ml / fHi. (2) 40 ml / o,
(3) 50 ml / fHi. (4) 60 ml / THeil.
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40 litres of a mixture of milk and water con-
tains 10% of water, the water to be added, to
make the water content 20% in the new mixture
1S

39 R U F TH 40 <X HHm F 10% U ®
qu Ao § 20% Ut WA o fau, ga fago ° fqeng
SHaT 9T Sl | 2—

(1) 6 litres / @ieX (2) 6.5 litres / il

(3) 5.5 litres / ©leX (4) 5 litres / @l
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A, B and C spend 80%, 85% and 75% of their
incomes, respectively. If their savings are in the

ratio 8 : 9 : 20 and the difference between the

incomes of A and C is ¥ 18,000, then the income
of B is :

A, B 3R C 29 3TF &1 Ha%: 80%, 85% 3R 75%
Td L 81 A STR! 99d HT I 8 : 9 : 20 B qeM
AIRCH 3T § 18,000 TIT T R &, A1 B H1 T4
I BRM 2

(1) # 24, 000 (2) 7 27,000

(3) # 30, 000 (4) 7 36,000
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3 5

A student multiplied a nhumber byg iInstead of 3 -

What is the percentage error in the calculation ?

[ A R R g R R

% g on o fear | aReem o 3 g fra € 2

(1) 44% (2) 34% 3) 54%  (4) 64%
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A man gives 50% of his money to his son and 30% to
his daughter. 80% of the rest is donated to a trust. If
he is left with Rs. 16,000 now, how much money did
he have in the beginning?

e Afed 3T €9 T 50% 9N 3199 I3 1 3T 30% A
AU T H A F1 I AT FT 80% WM fFE T A
2 faan < 21 319 afe 39 =afed & 99 16,000 $9T 99
g, 9 9% IH YR H T AT o?

(1) Rs. 40,000 (2) Rs. 8,00,000

(3) Rs. 80,000 (4) Rs. 4,00,000
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25% of annual salary of A is equal to eighty percent of
annual salary of B. Monthly salary of B is 40% of the
monthly salary of C. Annual salary of C is Rs. 6 lac.
What is the monthly salary of A ?

A & difier odT &1 25%, B & dIfteh odd & 80%
S 21 B o1 HIf9& 99 C & HIfgs 9aq &1 40% 2|
C 1 a1 a9 6 el TIT 2| A 1 AT adq foha 27

(1) Rs. 60,000 (2) Rs. 62,000
(3) Rs. 64,000 (4) Rs. 56,000
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The ratio of the number of boys to that of girls in a
school is 4 : 1. If 75% of boys and 70% of the girls are
scholarship-holders, then the percentage of students
who do not get scholarship is

et TpeT o oISl 1 & 3R isfhal i & &
AU 4 : 1 T | I ASHI o 75% i qq ASHA! & 70%
! BEg faerd €, a 37 foenfefar =1 ufaem, f5= smaft
T et €, f= 2

(1) 50% (2) 28% (3) 75% (4) 26%
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Rama’s expenditures and savings are in the ratio 5

3. If her income increases by 12% and expenditure
by 15%, then by how much per cent do her savings

increase 7?7
WS T AL T9d B 5 : 3 H1 ST 2| A SHHT 2T

T 12% 91 =T H 15% i gig &l sS4, df STh! oad |
foraq afaera =t gfg BFft?
(1) 12% 2) 7% (3) 8% (4) 13%




